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Direction: Read the given information
carefully and answer the following
guestions.

In a competitive exam, 30,000 students
took part. Exam centres were in 5 different
cities, viz. A, B, C, D and E. Out of the total
students, 35% are females. 20% of the
total female’s centre was in city C. Out of
the total male students, 10% had their
centre in city B, 30% in city A, 14% in city
D, 8% in city E and the remaining male
students had their centre in city C. None
of the females had her centre in city E. Out
of the total females, 30% had their centre
in city D, 16% had their centre in city B and
the remaining had their centre in city A.
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Direction: Read the given information
carefully and answer the following
guestions.

In a competitive exam, 30,000 students
took part. Exam centres were in 5
different cities, viz. A, B, C, D and E. Out
of the total students, 35% are females.
20% of the total female’s centre was in
city C. Out of the total male students,
10% had their centre in city B, 30% in
city A, 14% in city D, 8% in city E and
the remaining male students had their
centre in city C. None of the females
had her centre in city E. Out of the total
females, 30% had their centre in city D,
16% had their centre in city B and the
remaining had their centre in city A.




The total number of students whose centre was in city A is what per cent of the total

number of students?

T ST o1 3 TTEX A ® oI, I7ehl Shet HGAT BT ehl Thel WA T foheaT Tfaerd 37

A.29.7%
B.31.4%
C.17.7%
D.32.6%
E.36.2%




Find the average number of students whose centre was in cities B and D together ?

39 BT T {Td T&AT ATA RIS RITeRT g 318X B 3R D o foeTemt 912

A.5475
B.5325
C.3685
D.4755
E.4365




Find the total number of students whose centres were in cities C and E together ?

I BTAT ShT THet HEAT AT shitoral FAeh g IR C 3T E H Teh |10 A2

A.10,290
B.11,070
C.12,210
D.9,970
E.NOT




What is the difference between the total number of female students whose centre was in
cities A and C together and the number of female students whose centre was in cities D

and B together?
I BTATST <hl THet HEAT o STel T A AT § IR hg TET A 3R C | Teh ATY AT 3R A
e BT hl TEAT Tk hg I D AR B H 92

A.1240
B.1290
C.840

D.1340
E.1320




If 56% of the male students whose centre was in city A and 45% of female students whose
centre was in city C do not attempt the exam, then what will be the ratio of the male
students who attempted the exam in city A to female students who attempted the exam in
city C?

At 56% TET BT TRt hg e A | T 3R 45% Afeer o1 KehT g &8 C & o, uden
T TATH TE1 I §, AT IEX A T THEIT ol T o 1ol I5W ST SR 98¢ C o uiieT
TATE ST FTEAT HIGAT BTAT ShT ST AT GRIT?

A.257:129
B.351:154
C.361:165
D.341: 137
E.NOT




49 79 129 19, ?, 39

AWAS
B.26
C.29
D.18
E.25




2900, 2325, 1855, 1489, 1186.2, ?

A.712.95
B.886.12
C.953.96
D.957.26
E.912




0, 10, 30, 60, ?, 150

A.120
B.80
C.75
D.135
E.100




The table consists of percentage wise distribution of students studying in B.Sc.
Maths and B.Sc. Biology in 5 different institutions — A, B, C, D, and E. The total
number of students in B.Sc. Maths is given to be 3800 and the total number of

students in B.Sc. Biology is 4200.

ATfIT & 5 3eT-37eT TEI - A, B, C, D, 3R E-H diwwdl 7o 3R dvaw
SATdeTa A 3CTIT Bl died BEF & gfaqd IR Taior i &1 Siegdr o A
Bl HT Pol &A1 3800 3R divgd SHafdead # SHET 6 Pol FEAT 4200 T




Find the difference between the number of students in B.Sc. Biology and B.Sc. Maths in Institute
C?
TEA C § suEHt St TR Sroge niorta § et i §En o i< 3taw At hifu?

A.3
B.2
C.6
D.4
E.5




Find the ratio of students in B.Sc. Maths in Institute A and Institute B to that of students in B.Sc.
Biology in Institute D?

HEATT A R TEAT B | FUEEHT 0T | BTAT SR @A™ D W Foed Siaiase & st &1 FA7ura
AT hfsTe?

A.253: 159
B.159: 253
Cl1:7/
D.73: 159
E.7:11




What is the average of the students in B.Sc. Maths and B.Sc. Biology for institute B and C?

TEUT B 3R C & foTu sftuast vt ik stvadt stafasm § o &1 sied T 22

A.650.5
B.773.5
C.833.8
D.990.5
E.1023.5




What is the ratio of students studying in B.Sc. Maths to that of in B.Sc. Biology for institute E?
HEAT E o o108 sfrowst Tiora | Sfroed’ Siaiasm § ug- Sret ST T SIJuTd 371 82

A.483: 361
B.224: 323
C.361: 483
D.323: 224
E.NOT




Find the total number of students studying in B.Sc. Maths in Institute A and Institute D?
TEATT A R AT D H S0aet 70T H 378 Tl ATt DTAT hl hel TAEAT AT hI1T0?

A.1620
B.1840
C.1230
D.880

E.1748




S, M and J went for a trip and they spend some amount in the ratio 25 ¢ 29 ¢ 28
respectively. If another friend G joined the group, the average expenditure becomes

S5000rs. If the amount spent by G was 3600rs, what is the difference between the amount

spent by S and J?

S, M 3R J Uk AT & foT0 7T o7R 3 shum: 25 ¢ 29 ¢ 28 & TUTA § H T &Y i 21 afg
g 3T T G |HE W ITTHet 31 ATaT 8, At 3fted saa 5000 SO B AT B AR G R @ Y
nérr%mﬁoowéra”r,a‘rsaﬁTng@éaﬁnérrﬁTéaaﬁawww%?

:'U > A.Rs.900
B.Rs.600
C.Rs.400
D.Rs.1200
E.Rs.300




S, M and J went for a trip and they spend some amount in the ratio 25 ¢ 29 ¢ 28 respectivel
If another friend G joined the group, the average expenditure becomes 5000rs. If the amou
spent by G was 3600rs, what is the difference between the amount spent by S and J?

/, //_\ \/
1 o) > A.Rs.900

B.Rs.600
C.Rs.400
D.Rs.1200
E.Rs.300




A, B, C and D are four workers, working together they can finish a job in 24 days. A is
twice efficient than B, C is thrice efficient than B and D is twice efficient than C. Amount o
480rs is their total daily wage. In how many days D alone can do the work, also what is the

daily wage of D ?

A, B, C 3R D IR HTH &, Teh AT HTH FHId gC S Tk 1A ol 24 AT A qrsrwewd 81 A, B
h1 T H AT HITEA 7, C, B W T TAT HITA & AR D, C & IR[AT HITeA 81 480r <hY T

IR et ek A 1 D okt T T foha fat 7 s wemat 7, D st 2fes worgdt ot fonaft

A. 96, 360
B. 48, 240
C. 96, 240
D. 144,120
E. 12, 1080



A, B, C and D are four workers, working together they can finish a job in 24 days. A is
twice efficient than B, C is thrice efficient than B and D is twice efficient than C. Amount o

480rs is their total daily wage. In how many days D alone can do the work, also what is the
daily wage of D ?

\//_j\i
A. 96, 360
B. 48, 240
C. 96, 240
D. 144,120

E. 12, 1080



A train of length 'L' meters can cross a man moving with a speed of 15 m/s in opposite

direction towards the train in 20 seconds and it can cross the same man in 30 seconds if
the man is moving with a speed of 20 m/s in the same direction as that of the train. Find
the value of 'L'?

Teh 'L HieX ervait 2 faradia feom o 15 Wiew/drehs hl 7Tfd & ot @ Ueh AR okl ¢ <Al 31X 20
Uehe W U Y Hehd ! € 311X Ig IHT AR T 30 Aehs U UR Y Tehe 1 & AT ATGHT 7 Y U
faom & 20 HeyAee it afa & 211 9¢ W21 'L &1 11 [T hited?

= > A.900 m

-'-' B.1.5 km
C.1800 m
D.2.1 km
E.2500 m



A train of length 'L' meters can cross a man moving with a speed of 15 m/s in opposite
direction towards the train in 20 seconds and it can cross the same man in 30 seconds if

the man is moving with a speed of 20 m/s in the same direction as that of the train. Find
the value of 'L'?

A.900 m

B.1.5 km
C.1800 m
D.2.1 km
E.2500 m




S is carrying one dozen balls in his box. 7 of the balls are red and others are blue. If 3 balls
are taken out from the box randomly, what is the probability that at least one ball out of

the 3 balls picked up is blue?
S 31U ST H Tk I 15 of AT T 81 1/4 TS ATA § 3R 7= AT 81 Al drad  Aigfeoeh
w9 A 3 T2 fFerTeft ATt &, a7 3818 718 3 Tl § A A O W Ueh g Areit g1 AT UTRrekdr T

2?

¥ = ri\
W R} gy}

A WA= /

A.220/221
B. 215/216
C. 219/220
D.221/222
E. 217/218



